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#include <stdio.h>
#include <stdlib.h>

int main(int argc, char *argv|[])

{
int n;
if (argec < 2)

return 1;

n = atoi(argv[1l]);

if (n == 0)

/* case

print£("0 0\n");

if (n == 1)

/* case

printf ("1 2\n");

if (n == 2)

/* case

printf("-1 2\n");

if (n == 3)

/* case

printf("1 -2\n");

if (n == 4) {
srand (4) ;

printf("sd %d\n", rand() %

if (n > 4)
return 1;

return O;

/* case

: testing zeros */

normal operands */

negative numbers */

negative results */

random input */

1000 - 500,

rand() % 1000 - 500);
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#include <stdio.h>
int main(int argc, char *argv|[])
{
FILE *ifp, *ofp;
int a, b, c;
if (argc < 3)
return 1;
ifp = fopen(argv[l], "r");
ofp = fopen(argv[2], "r");
if (!'ifp || l!ofp)
return 1;
if (fscanf (ifp, "%d %d", &a, &b) != 2)
return 1; /* bad input */
if (fscanf (ofp, "%d", &c) != 1)
return 1; /* bad output */
if (a + b != c)
return 1; /* wrong answer */
printf ("sd\n", 1); /* print the score */
return O;
}




